—o b
%%a ~ ol -
© —
SZE J3
wuw . -4
__h. _._._A—/_”_ m
88 T ok
= °C N )
AN 3 - n
OF R0 & = ol Hu
w0 E < o Uy 0
mo_ nl_ﬂw or
" 5= Mo A= g
: B or <0 :I,W [ HH_uW
: ol 3ol - T ﬂou%xu_ -
: - Ik Wl & Fog ~
: i <F 1 = T —
mn_.hmm o = K R} Wo s e AR .
R=Adk XKooy TR ol o = LR o1 I W E W
<)oy | Hmoa|m_u|r uj o 30 M T of % [ oK o I I ERN
‘o4 TR IE 0 - M X o © Ko = =l T
. OT ol 0 =7 nO 1 M I.I._A O_ ol —_— - lmm
R DN orl N o < o ILAuArr o = Ll > o il N
: ﬂ,.r,l_._._._ﬂ_._ o ol murw._._A.nUOn X = 7|;2n|17| <
iz | oa®ols oy OF T -~ K XER o A
el geEzag of ypEIgfrc 3 5 hgy Wz
- nO o= m - - 9 _.q|w — 1o - o ©
Moplz| ®Ead g 53 ozddmag 0w gEE N
%o Thy o 1 Al o 0 om &° Kr o e W OF joI Ok =l e X R 44
b | T LIH_AI_.__=_| Eu_ﬁl LI.AL__W_._“_.._ S DU RN o o
: 1 ﬂu_.ALIOLHOT 0 ™ N = oll Eo__._._Q_o = ol o = =
a_oHO ol Tl o o 2 ol 30 oM - ol oy <X Thu [=] o o Kr KO
b | ol o & K o & = m._MALl....__/. _ W = ST Kok
ﬂmlﬂ _u.oLlhuu_7_|._o7 = DIW|LI_=+AO_._._._ =) = 3 oF
o3 o =1 %Ki ujo | TS S ] ujo o S o Uk &0 RO
L — = T o W3S | D0& T mﬂ+oAmIA[ " % ol K KT
=t nll Il N Ko [ S — ° DK ~ & o= o = A
=, | 1Y i moL_uxLl xTHLl.|o_e L_._mc_eo_._ n s o__. S 10
< e = 5 ﬂrAWml)ﬂ 2 o L - oo oo
: A = R RO S M m.u_u_@ﬂu_immmu.q_o_e.r G TR g
o (< W_E%_zinﬁ_ .__.__/1J|§_HEx:.x_ulmﬂ_A o o_.r_ugﬂw__uﬁV o =
<l 5] ® o0y o kKF 2o joH S = I Uk [N o =
0 o oM ke 2 =) o = o =~ = {0 1T X0
LSHo: I=TN=} wn K H:OlL__o_A = = < O K& < o
R [ uloe_ig_eaﬁ_nfan|zp¢ o =d 2% © o
o_wLWMmEoL mﬂXEMl_m_'Nlm_AP._nnxen_l m:kl M||OTEHT o
umuﬂﬂoﬁuﬂ H_.mor_aﬂﬂo._%o:m_ux_.m_m ™ =pEd W
_”_.__A|=_@._MA_|mmmE ﬂ.u_klm_._r_.urx_ooﬁm_'._n_n_n_klm._lmA ~ NE __h.____u_m._._l_ﬂ.nhm_.._n H &
- ° = m
PRE R N =) ) ) Ko = g B X W of
QEEWE*_VD NHMWE%%%% g Kl F 20 80 g o o
L =] Y T 2 or
® 3l oF H% ,.mmmam aAo_Lr_l.mM%.m%uhm(___%
A A A a4  a mx_.cuﬂ_x._ﬂo_._lHMquuﬂ_u
<1 N Ef |_._._AA_H__._._OJ|/
N Em_H_M|A _/n_
X3 a R o3 fo <F

b 2K}

—

-
(]

HE LTt

I

X
(]

A

T




<+ HAU Q&A

Q1. HELS ofgst2{H oA siof StLtR?
» HE|E A HELICL 59| 25 3 oflgs = 717t Alole 22 & MESHL AL =85
o ZolLt na2 TSYL7| S22 &0 TR ME[7IH0
Q2 et ME|§ St 2FoiAY =0t FLIR?
» Of. H2|E RO =L B2l S HlH|l= 522 HELTE &S 5 AL F2[ooF LT,

2

|7
Ih2 EoldI@F g EE5H X2E T, =M HEL A 5FE 750

» 7t =
AHESIA|Z| HEEFLICE, ZEetRte| H7, EXt §2 AR 20| MEF T HZ(55°C 0| o)A
S O|A = Al AFZHAIZLICE TZHAT| SO JHIQ} Hioo| X8 HE|7IEE BEI|
N7{5to MEIL[e| MIE offeetL|Cl

Q5. MEIL| #2| Al FoJArd2 Q&L
Vi

Il ARl O2|7HE0] E2 oL

_ITI_
il
Mo
[l
mjo
OHl
=[0)
oo
2
=
o
e
un
1>
30
o>
-
[

» HEILIE HEE A HE[ZHE0| 2E HHot0 7hy St HotELc 7hel 2X|Fate
BELE HhiEe 8%< i E27|= oAl 7hsotEz JHel SH(2AL &, oo S)=




